15ERF

\ L/

B68[E] ST IR Ay FF L —X ELRBHBEEF XS

i
g ? § FER284ET7H21H (X) -22H (£)
- XF HN—EE (XRT—F : 16281512) Do) LR BB LR ) (BRI — F - 281030)
A e é};uz = 111 211 3fL 4fL 5fi 6 i 7L 8 fi
B A
721 100m 2 EEEAE® 12.36 1A  FBE(1) 13.26 ﬂizs:mm%sm 13.56 fae 1Bt (1) B2 HE B0 13.80 @ &HE(1) 1392 [mAEZM (1) 1203 fF BEF () 14.06
B -0.5 58 3% ™ 2.2+ B 22%& * 0.5k F 0.5 & -0.5 % % 4t -2.2 88 3% 0.5
122 200m 2 REE=<%() 24.99 [lsA&  FHE(1) 26.51 #E BZE®) 28.12 |BAEZT (1) 28.45 [thft EF(1) 28.67 | BE =& () 28.82 %@ B (1) 28.96 A #EZX(1) 28.96
k B +2.3 38 & 0.0k F +1.1 8 % 4t +2.3 16 & @ +1.1 WERRANTE +2.3 48 & & .1 K +2.3
1721 400m 1 R (0) 1:01.85 g £& (1) 1:06.33 LE fEE) 1:06.34 @A HE (1) 1:06.36 M@ #E=(1) 1:07.32 [ BH #H7E() 1:08.53 | ABTEF (1) 111,30 =/ kF () 1:12.83
B O R i B B % BO® B/ HW% B &
S 12 800m 17 =1 ) 2:29.99 |B®H #HfE(1)  2:31.50 i £&F(®) 2:34.73 | B BiwE(1)  2:34.75 THEEF(®) 2:35.62 |=W§ (1)  2:36.03 ¥E)II #&m (1) 2:36.37 | BRREAKTF (1)  2:39.50
K BB R B/ B B B % it ] WA E i B B %
7721 1500m | 25 Brh #&#< (1) 4:49.64lBAED=(1)  5:02.44 =l (1) 5:14.41 8% (1)  5:15.23 M@ E=®) 5:17.12 /@A @md)  5:17.49 &% F B&() 5:18.40 | BIREAAEF (1)  5:19.85
B B WA E R E o i ER 7 [ B
v 72| 3000m | 15 B &< (1) 10:11.30 #ASD=(1) 10:44.01 || 3£0) 11:01.33|@A& @mmM) 11:06.78 & k=) 11:07.90 | K# BAZ (1) 11:08.19 £@ RBA(1) 11:17.62|F T~ @BEH1) 11:19.23
B B B | o B i B 7 B/
721 100mH | 9 ERT7F (1) 14.96 &8 #%x) 16.00 2% &) 18.70 | EEF#Hth 5 (1) 19.06 ®E Fm1) 19.22 #&E BE (1) 19.36 /N&  RRsR (1) 20.09
BB -0.5 58 B & +0.6 % % 4t 058 % +0.6 %8 I -0.5 3 B T +0.6 %8 5 +0. 6
20 7/22| a00mH | 4 a8 &R0 1:05.19 &k mrE(l) 1:06. 63| EBH#hE (1) 1:13.10 Mg gEF () 1:17. 49
B i ER B 1B
7/22 1 5000mwW | 0
1721 —_— 6 X& m@iEQ) m54 [2EE 7 >+ (1) m51 &R Imd (1) md0 e BE& (1) e TR =36)) CIEEEE ) m30
2 = B BB B X F K i OER
< 12 EE® 9 T HeH (1) 5mi6 FHEEERE (1) 4ms5 Rk BE (1) 4md8 INBFEIRTF (1) a3 E EED) 39 [ +F tE() mig @R IFEDA (1) 3m95 @ 4& (1) 3m93
" BB +1.1 B3 KR 0.5k F +1.5 88 B +1.1 38 B & +1.4 1837 K +0.6 38 B = .22 & +2.1
| 720 m A 9 R Fa) om0 (&t R () m76 @TE  =7E (1) mig| A MEA) 6mo9 | Frili = (1) 6m65 | &R #mn (1) 6m36 | /MEEZTE (1) 6mi7 [ RE B ) 6mo1
B BB X F IERRANTE N - B % it K B &
191 Mo B 10 £H #HR®) 26m08 HEIR F#A (1) 25m92 | tH &HZE(1) 24m31 | &R Fm() 23m27 | By Z=EE(D 21m88 KT #lifE (1) 21m62 £& B (1) 2im15 [ K3k (1) 16m64
ERRATE 1 ER 7 B B % it N A E X ¥ |
Bl sy » i IR 28m80 AT #hfE (1) 26m54 | = (1) 25m51 [+ F +£E (1) 25m45 | /MREERRE (1) 24m06 | £ B (1) 23m37 | R fETE (1) 2m81 T H 7 (1) 22m29
BO® i B % 4t 18 37 KR I X F 5 = i PR A
FRABH - AR FE L9/
B i 2483 Xix - AR - mE BE | E O TERESEESEEER 3 :_PBR A )
[smA% | 1018 | R Eh 28.5°C [ 4 #-0.7m/s| 60% EEREEBREGS ERagE: BE BH E
10:00 BEh 30.0°C B O-1.0m/s|  56% BRHE RS MNYERE: P & o EE
100 Eh 31.0C | dt E-2.1m/s| 54% X & : RERBEERGTERERTHEEREE MW EER: _ MH RN o
7A218 (K) A £Y 30.5°C M -0.5m/s 53% |t B:mPEHMEH
19:00 Eh 31.5°C | M ®-0.5m/s| 51% BERETHERRES
14:00 fEh 32.0°C M -2.1m/s 49%
it h 32.0°C | @ #-1.0m/s| 5%




